
Frameless 
Frame optional
accessories. 
Not included.

• 2 x Portable Easel base 380 mm
• 2 x Portable Easel base 1550 mm
• 1 x Clover-head screws M6x20
• 2 x Mobile Peg
• 1 x Lock plate
• 1 x Bolt M6x12
• 4 x Nuts M6 10x14
• 4 x Puler Screw M6x60

5 different 
display 
heights

1 2

5

9 10

6 7 8

(EALNWOOD)
WOOD PORTABLE EASEL

Installation Instructions

43

11 12

15

1413

16 17

21

1918 20

22 23

Base 1550 mm

Base 380 mm Lock plate

Mobile peg Clover-head 
screws


